We have a channel with the following impulse response:

[image: image1]
The receiver is open on the channel for the window identified by the red square.  If we assume that we are using FH-FSK, and that the clearing time between successive transmissions exceeds the total channel delay spread, then we can model the received signal as: 
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Assuming that s(t) is unit energy, then the transmission loss can be computed as:

TL = Er/Es
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And
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Is this an accurate model for transmission losses?  In the text, it says that this model is valid when τn-τ1<<Tm.  However, can we use this model where we assume that any impulse that is received within the receiver window is fully captured by the receiver?  We are getting the time-invariant channel impulse response from Bellhop, and Leonard is currently using this model for his network simulator.
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